KOLAR Document ID: 1781035

Notice: Fill out COMPLETELY and return to Conservation Division at the address below within 60 days from plugging date.

Kansas Corporation Commission Oil & Gas Conservation Division

WELL PLUGGING RECORD K.A.R. 82-3-117

Form CP-4
March 2009
Type or Print on this Form
Form must be Signed
All blanks must be Filled

OPERATOR: License #	ŧ		AP	l No. 15				
Name:				Spot Description:				
Address 1:				Sec				
				Feet fron				
City:	State	:	_	Feet from East / West Line of Section				
Contact Person:			Foo	Footages Calculated from Nearest Outside Section Corner:				
Phone: ()				NE NW	SE SW			
Water Supply Well	Other: G	OG D&A Care SWD Permit #: as Storage Permit #: is well log attached? Yes	Lea Dat	ase Name:	Well #: (Date)			
Producing Formation(s)	: List All (If needed attach a	nother sheet)	by:		(KCC District Agent's Name)			
Do	epth to Top:	Bottom: T.D	_{Plu}	aaina Commenced:				
De	epth to Top:	Bottom: T.D						
De	epth to Top:	Bottom:T.D						
Show denth and thickne	ess of all water, oil and gas	e formations						
·	Water Records	iornations.	Casing Recor	d (Surface, Conductor & Prod	duction)			
Formation	Content	Casing	Size	Setting Depth	Pulled Out			
				3 27 3				
		cter of same depth placed from			nods used in introducing it into the hole. If			
Plugging Contractor Lic	ense #:		Name:					
Address 1:			Address 2:					
City:			Sta	te:				
Phone: ()								
Name of Party Respons	sible for Plugging Fees:							
State of	Co	unty,	, S	S.				
				Employee of Operator of	or Operator on above-described well,			
	(Print Na				operate. on above described well,			

being first duly sworn on oath, says: That I have knowledge of the facts statements, and matters herein contained, and the log of the above-described well is as filed, and the same are true and correct, so help me God.



Remit To: Hurricane Services, Inc.

250 N. Water, Suite 200 Wichita, KS 67202 316-303-9515

Customer:

RH CAPITAL-BEETS LLC 1133 CORNETT BRANCH RD ATTN: THOMAS HECKMAN LAKE OZARK, MO 65049 Invoice Date: 4/19/2024
Invoice #: 0375818
Lease Name: John Gage
Well #: 1-23 & 3-23 (New)
County: Douglas, Ks
Job Number: EP13166
District: East

Date/Description	HRS/QTY	Rate	Total
Plug/LS	0.000	0.000	0.00
Cement Pump Service	2.000	900.000	1,800.00
Heavy Eq Mileage	57.000	4.000	228.00
Light Eq Mileage	57.000	2.000	114.00
Ton Mileage	403.000	1.500	604.50
H-Plug	63.000	16.000	1,008.00
Vacuum Truck-80bbl	5.500	100.000	550.00
Fresh water	3,360.000	0.020	67.20
Oil well cement	83.000	25.000	2,075.00
Pheno Seal	41.500	1.750	72.63
Bentonite Gel	200.000	0.450	90.00
2 3/8" Rubber Plug	1.000	40.000	40.00

 Net Invoice
 6,649.33

 Sales Tax:
 390.60

 Total
 7,039.93

TERMS: Net 30 days. Interest may be charged on past due invoice at rate of 1 ½% per month or maximum allowed by applicable state or federal laws. HSI has right to revoke any discounts applied in arriving at net invoice price if invoice is past due. If revoked, full invoice price without discount plus additional sales tax, as applicable, is due immediately and subject to interest charges. Customer agrees to pay all collection costs directly or indirectly incurred by HSI in the event HSI engages a third party to pursue collection of past due invoice.

SALES TAX: Services performed on oil, gas and water wells in Kansas are subject to sales tax, with certain exceptions. HSI relies on the well information provided by the customer in identifying whether the services performed on wells qualify for exemption.



Customer	RH Capital-Beets		Lease & Well #	Well # John Gage, #1-23, #3-23				Date	4/19/2024		
Service District	Garnett		County & State	Douglas, KS	Legals S/T/R	14-13	-20	Job#			
Job Type	Plug/LS	✓ PROD	□INJ	SWD	New Well?	✓ YES	No	Ticket #	EF	213166	
Equipment #	Job Cofety Analysis A Discussion of Hawards 9 Cofety Presedures										
97	Garrett S.	✓ Hard hat		✓ Gloves		Lockout/Ta	gout	Warning Sign	ns & Flagging		
209	Nick B	✓ H2S Monitor		✓ Eye Protect	tion	Required Pe	ermits	Fall Protection	n		
246/215	Drew B	✓ Safety Footwe	ear	✓ Respiratory	/ Protection	✓ Slip/Trip/Fa	ll Hazards	✓ Specific Job S	Sequence/Exp	ectations	
110	Doug G	✓ FRC/Protectiv	e Clothing	✓ Additional	Chemical/Acid PPE	✓ Overhead H	lazards	✓ Muster Point	/Medical Loca	ations	
		✓ Hearing Prote	ection	✓ Fire Extingu	uisher	Additional	concerns or is	ssues noted below			
					Con	nments					
Davidson (Commission											
Product/ Service Code		Descr	ription		Unit of Measure	Quantity				Net Amount	
C011	Cement Pump Serv	rice			ea	2.00				\$1,800.00	
M010	Heavy Equipment N	/lileage			mi	57.00				\$228.00	
M015	Light Equipment Mi	leage			mi	57.00				\$114.00	
M020	Ton Mileage				tm	403.00				\$604.50	
CP055	H-Plug A				sack	63.00				\$1,008.00	
	g.·									* 1,000.00	
T010	Vacuum Truck - 80	bbl			hr	5.50				\$550.00	
AF080	Fresh Water				gal	3,360.00				\$67.20	
•											
CP020	H226 OWC				sack	83.00				\$2,075.00	
CP125	Pheno Seal				lb	41.50				\$72.63	
CP095	Bentonite Gel				lb	200.00				\$90.00	
FE010	2 3/8" Rubber Plug				ea	1.00				\$40.00	
1 2010	2 0/0 Trabber Flag				Ca	1.00				ψ-0.00	
Custo	omer Section: On the	e following scale h	ow would you rate	Hurricane Servi	ces Inc.?		ı		Net:	\$6,649.33	
				111014	2	Total Taxable	\$ -	Tax Rate:			
Ва	ised on this job, ho	w likely is it you v	voula recommend		igue?		to be sales tax	x exempt. Hurricane	Sale Tax:	\$ -	
						Services relies on information above					
######################################					H{winpho#£itho	services and/or pr	oducts are tax	exempt.	Total:	\$ 6,649.33	
						HSI Representative: Garrett Scott					
accounts shall pay inte collection, Customer h applied in arriving at n Pricing does not included discount is based on 3 made concerning the 1 guarantee of future pro operational care of all	erest on the balance pas lereby agrees to pay all let invoice price. Upon re de federal, state, or local 00 days net payment terr results fom the use of ar oduction performance.	at due at the rate of 1 the fees directly or indirect evocation, the full involution at taxes, or royalties and ms or cash. DISCLAI by product or service. Customer represents ment and property whith	/2% per month or the ctly incurred for such cice price without disc d stated price adjustr MER NOTICE: Tech The information pres and warrants that we ile HSI is on location	maximum allowable collection. In the evecunt is immediately ments. Actual chargenical data is presenented is a best estill and all associated	ms of sale for approved and by applicable state or feent that Customer's account of the country and the countr	ederal laws. In the e unt with HSI becom ction. Prices quoted pon time, equipment warranty is stated on that may be achieve e condition to receive	vent it is neces es delinquent, l are estimates nt, and material implied. HSI a ed and should l e services by F	ssary to employ an ac HSI has the right to round and are good fo I ultimately required the assumes no liability for the used for comparists. Likewise, the cus	gency and/or attevoke any discortion 30 days from to perform these or advice or record purposes and tomer guarantes	orney to affect the nunts previously he date of issue. services. Any mmendations d HSI makes no es proper	

ftv: 15-2021/01/25 mplv: 444-2024/03/04



		ATMEN									
Customer: RH Capital-Beets					Well:	John Gage, #1-23, #3-23		Ticket:	EP13166		
City, State:				County:	Douglas,	KS	Date:	4/19/2024			
Field Rep:					S-T-R:	S-T-R: 14-13-20			Plug/LS		
Downhole Information					Calculated Slu	Calculated Slurry - Lead Ca			alculated Slurry - Tail		
Hole Size: 5 7/8 in			Blend:		Blend: OWC 1/2# PS						
Hole D	Depth:		ft		Weight:	13.5 ppg		Weight:	14.83 ppg		
Casing	Size:	in ft in			Water / Sx: Yield: Annular Bbls / Ft.:	6.5 gal / sx 1.50 ft ³ / sx	w	Water / Sx:	6.6 gal / sx 1.45 ft ³ / sx		
Casing E	Depth:							Yield:			
Tubing /	Liner:					bbs / ft.	Annular	Bbls / Ft.:	bbs / ft.		
	Depth:		ft		Depth:	ft		Depth:	ft		
Tool / Pa	acker:				Annular Volume:	0.0 bbls	Annula	r Volume:	0 bbls		
Tool E	Depth:		ft		Excess:			Excess:			
Displace	ment:		bbls		Total Slurry:	bbls	Tot	tal Slurry:	0.0 bbls		
			STAGE	TOTAL	Total Sacks:	sx	Tot	tal Sacks:	0 sx		
TIME	RATE	PSI	BBLs	BBLs	REMARKS						
9:00 AM			-	-	On location, Held safety n	neeting					
				-							
				-	Hooked to drill pipe set at	680' and established circul	ation				
				-	Mixed and pumped 15 sks	of H-plug cement					
				-	Rig pulled pipe up to 350'						
				-	Mixed and pumped 40 sks	of H-plug cement					
	- Rig pulled pipe from well										
				-	Topped off well with 8 sks	of cement					
10:30 AM - Washed up equipment and pipe											
				-							
				-							
1:00 PM					Hooked to 2 7/8" casing s	set at 701'					
	4.0				Established circulation						
	4.0	200.0				of bentonite gel followed by					
	4.0	200.0				of OWC cement with 1/2# F	'S/ Cement to surface				
	4.0				Flushed pump and lines of		of freeh wet				
1.0				Displaced 2 7/8" rubber plug to float shoe with 4BBL of fresh water Landed plug with 800PSI, well held pressure							
		800.0									
	4.0				Released presure to set fl Washed up equipment	oat valve					
	7.0				rrasiicu up equipilielit						
2:00 PM					Left location						
IVI											
		CREW			UNIT			SUMMARY			
Cementer: Garrett S.				97	Average Ra	ate Average P		Total Fluid			
Pump Op		Nick E			209	3.5 bpn			- bbls		
	ulk #1:	Drew			246/215	5.5 S pii	1 .50 1	1			
	ulk #2:	Doug			110						

ftv: 15-2021/01/25 mplv: 444-2024/03/04